
Re
vi

si
on

 0
3/

10
/2

00
5 

(1
/2

)

 

Partslist RIDGID KJ1590 II 

dhall1
Oval



Part no.

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31

Number Ridgid 
art.nr.
60946
71986
*
60936
60896
60976
88716
88726
58446
58436
88736
88746
61016
88756
88766
60836
88776
88786
88796
88396
88406
88416
88426
88436
88446
88456
88866
88466
88476
60926
88486

Description

Motor complete 
H.D.pump NP10/15-140 
Bolt (belongs to Unloader) 
Unloader ULA-150
Strainer 
Switch assembly 
Hose 
Hose Clamp
Front nozzle 1/4'' 
Back nozzle 1/4'' 
Messing nipple 1/4" bu 
Adapter A 04 BM 04 BM 
4*screw M6x25 
Locking Cover
Shaft
Quick conn. Geka 3/8"  
Suction hose 
Hose clamp 
Hose Tail 
Slangp. 3/8"bu x 13mm tule 
Shaft of upper wheel 
Shaft with lever
Bearing bushing 
Wheel assembly 
Wheel
Elbow 
ELVZ spring washer M6 
ELVZ 8.8 bolt M8 x 16 
Handle 
Manometer
Hosereel

Part no.

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62

Number Ridgid 
art.nr.
88496
88506
88516
88526
88536
88546
88556
88566
88576
87746
88586
88596
60876
88606
87696
88616
88626
88636
60826
88646
88656
88666
88676
88686
88696
88836
88876
88706
60986
88846
88856

Description

Nozzle support 
Washer M18 special
Ring 15x25x12 
Lock-hose reel 
Starlock for wheel
Basic Frame KJ1590 II 
Starlock for upper wheel 
T-piece 3x1/4"inw BSP 
Hose from pump-hosereel 
Main hose 20m x 1/4'' 
Radial swivel joint 
Bracket 
1/4 ball valve type 340 
Shut-off Valve 3/8" 
Spraygun single lance (option) 
Plastic stop 
Reducing bush
Reducing nipple
Back Valve 3/8" 
ELVZ KL.8 bolt M8
ELVZ KL.8 bolt M18 
ELVZ O-ring/2F M8 
ELVZ O-ring/2F M18 
ELVZ 8.8 bolt M10 x 30 
ELVZ 8.8 Tapbout M10 x 80 
ELVZ Sluitring/2F M6 
Capacitor BC 
Typeplate KJ1590 II 
Conduit box, cover 
Handle spraygun 
nozzle spraygun

Partslist KJ1590 II (2/2)

Re
vi

si
on

 0
3/

10
/2

00
5 

(2
/2

)



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile ()
  /CalRGBProfile (Apple RGB)
  /CalCMYKProfile (U.S. Sheetfed Coated v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.5
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 524288
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError false
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox false
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (GWG_GenericCMYK)
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /ENU <FEFF>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [14144.882 14144.882]
>> setpagedevice


